? Syrl{bintfé’rélaﬁehshipé include : de—
mutualism, commensalism, and | 3 +3?C—D

parasitism.

In mutualism, both species obtain \H\
some benefit. ¢y @ tb

. U "
In commensalism, one species @ @ ON. m\

obtains some benefit; the other
seems to be unaffected.

In parasitism, one species, the ond MI M
parasite, obtains some benefit @ @ {
and the other species, the host, N oy reoh
is harmed. @W h

Parasites cause disease but J{Q,Q’ - \ P

also have a positive role in { C3f é” m

ecosystems—they control

populations, n W{Q S\ DY
Parasites’ characteristics help :
them use their hosts. "N\(' o éﬁ} (e 12 !\‘Q@Q

/OCABULARY-Use the space below to write each definition in your own words,

ST oo &
symbiosis T e Ratardg beﬂm%é pel 5

mutualism pote A ganlinm ate el pecd

commensalism | O0Z G(SQN\bM DQY\Q_Q\X@,’ ONne uﬂq’e%ﬂ
yarasitism Oone 0(\6 ANSE M B é\t\éﬁj-{\g“‘t" ‘-% Q\Mﬁﬁn v

05t 1o of SCJ\:\B o "?(‘ﬁwf‘( S Normegf
arasite -—M A& ﬂcu\i":; m ThQL+ ‘{5 h&]
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Name:

Study Guide (continued)

QUESTIONS ;

1. A sea lamprey attaches itself to the surface of a fish and absorb S
fish. What type of symbiotic relationship exists between these two species:

polecs \*85 ™S

s nutrients from the

out of water. The

he tree. What type

2. A barnacle can attach itself to the lower trunk of a tree growing
trunk holds the barnacle in place, but the barnacle does not harm ¢t
of symbiotic relationship exists between these two species?

CO oo e

3. Lactobacillus bacteria live inside a human’s digestive system, getting nutrients and .
breaking down nutrients into smaller molecules. What type of symbiotic relationship
exists between these two species?

MUt \Mfﬁ. oV

4. How is the relationship between fleas and a dog similar to the one between a family
and its dairy cow?

ey

wWe e

(¥r (v
] P d P e
P o \
i T .M)f & (&

; g {& oM )
A LA b P

5. For each example, tell whether the relationship might be symbiotic and why.

s, -~

./

(= A
et i evan

¢

(a) bucterfly and flowering plant ‘ N
MU\ o ¥ O ¢ N RS

EALINE,

(c) fly-catching spider and the horses in a barn

(d) insect-eating bat and the people in a town

Copyright © 2009 by Nelson Education Ltd
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: - Water Cycle
1. What makes the water cycle

work? In other words, what

drives the water cycle? Explain.

b')o‘«)‘e’r ,Q( D
plroct  \aved el
6&@0(‘ ated  “Hhan\
WD

T1 uwpialaon

Cle x}é«

Evaporation

Fracipisstion

@\ o EFQP

Ane ‘*)ww

Surface Runoff
= Surface Runoff
Infitration B . e b
e e
Water Table Surface Storags Wates Table
G ¥ Movement > Sunface Water

Carbon Cycle

lp=t ; s

2. What are the 3 main ways that carbon

gets put back into the atmOSphere? Explain. ‘
'

~ A
A (N

Corsous S AVa NI
j . \\
RS \\S C ?ﬁ:\ Lce s\7”\\ ;

@\ﬁi&«(\“f
T~ —

e

Eﬂ'“¢> x’T\E\?DE" GNO 0

3 What is the main way that carbon gets
into living things (plants)?

@\ S o T

Carbon dioxide (CO;) in
the atmosphere

PHOTOSYNTHESIS

Animals and other
organisms

Cellu)ar respiration

DECOMPOSERS CONSUMPTION
(bacteria, fungi) A |

Dead organisms

Pl

OIL, COAL,
NATURAL GAS

£

oy

A\

p '.". l» .1' \

1 / (
WO

4. What drives the nitrogen c
words, what 'n.;ko, the nitrogen (:yde work?

o? In other

5. What is another way that nitrogen can be

0

fixed?

bﬂ \OVM € : h
bl 8%‘( \

Nitrogen Cycle

atmospheric

//:itrogen gas%

é@p‘

mlrogen fixing
bacteria

\ nitrates




